Calculator Team 2023- Team Member #1

Place your answer on the appropriate blank of the answer sheet. Give an exact answer
whenever possible. Otherwise, round to 3 decimal places.

1. Let f(x)=x>-5x>—x+1. Find f(-1.75).
2. What is the remainder of 375900 divided by 27?

3. Compute (53'253 —0.627J><0.193.
13.371

4. Compute 1.82x[2.31(5.42+0.87)2 +£}
| 141 121
5. Compute 10! 3141, 2121
6141 71 4l

6. Compute logs (15625)xlogs(30).

7. Compute ln(ez)xe1'43.
8. Compute %{(1.23—2.915)2 +(5.24-2.915)* +(3.32-2.915)° +(1.87—2.915)2} .

9. Find the sum log; (1 )+ logyg (22)+ log;g (33)+ log;g (44)+ log;g (55 ) :

10. Find the sum 1—i+i—i+ 1

210 31 41 51

11. Compute J(M—Zﬂ)(@+\/8_4)

12. Compute (1.27+ 2.73)(1.272 +2(1.27)(2.73) + 2.732) .

13.  Compute0.3+0.3(0.7)+0.3(0.7)* +0.3(0.7)* +0.3(0.7)* +0.3(0.7)’.
01345 (1‘345)0 01345 (1_345)1 o345 (1.345)2

0! " 1! " 2! '
15. Compute J67.48 .

14. Compute



Calculator Team 2023- Team Member #2
Place your answer on the appropriate blank of the answer sheet. Give an exact answer
whenever possible. Otherwise, round to 3 decimal places.

16.  Let f(x)=x>+2x>—x+1. Find f(~1.83).
17.  What is the remainder of 353790 divided by 37?

18. Compute 83.517
37.684

- 0.674) x0.186.

19, Compute2.71x|3.45(4.62-3.52)} + 2020 |
1.243
| 151 !
20. Compute 20¢ x5'5'><2'1'.
71131 10! 3!

21.  Compute logjq(1000)xlog;o(25).

22.  Compute >3 x 012 xIn(e).

23. Compute%{(0.23—2.915)2 +(6.24-2.915)" +(4.32-2.915) +(O.87—2.915)2} .

24.  Find the sum log; (25)+ logy (34)+ log (43 ) +logy (52) .

e &

25. Find the sum 1+£+—+—.
1 2r 31

26.  Compute </33.05.

27 Compute ¢”'245(1.245)0 471245 (1 245) 1+ e71245 (1.245)?

28. Compute \/(2\/§)(28+\/ﬁ) .
29.  Compute (3.82+2.18)(3.822 +(3.82)(2.18)+2.182).

30.  Compute0.2+0.2(0.8)+0.2(0.8)*+0.2(0.8)’ +0.2(0.8)* +0.2(0.8)’.



Calculator Team 2023- Team Member #3
Place your answer on the appropriate blank of the answer sheet. Give an exact answer
whenever possible. Otherwise, round to 3 decimal places.

31, Let f(x)=3x"—x%+3x+2. Find f(~1.53).
32.  What is the remainder of 3719000 divided by 27?

33. Compute 15.372
8.194

- 0.734) x0.376.

2
34. Compute3.18x[2.31(2.43—3.37)2+O.603] :

3121 81 2121
X X

35. Compute .
51 5131 4!

36.  Compute logs(9.4)xlogs(6.8)xlogs (81).

37. Compute ln(e7'23)><eln(0'125) xln(e).

38. Compute%{(0.73 —2.915)> +(5.74—2.915)> +(3.82-2.915)* +(1.37 —2.915)2} .
39.  Compute {In(3)+In(6)+In(9)} —{In(1)+In(2)+In(3)}.
40, Findthesum |1+3+3%+3 43437430437 435437 |+ 3741

41.  Compute 3/20.81.

42 Computee 234 (1.234) 171234 (1.234)? 171234 (1.234) + 1234 (1.234)*.

43. Compute \/(2.5+2\/ﬂ)(5.1—M).

44.  Compute (1.3+3.7)(1.32 +(1.3)(3.7)+3.72).

45.  Compute0.4+0.4(0.6)+0.4(0.6)° +0.4(0.6) +0.4(0.6)" +0.4(0.6) .



Calculator Team 2023- Team Member #4

Place your answer on the appropriate blank of the answer sheet. Give an exact answer
whenever possible. Otherwise, round to 3 decimal places.

46.

47.

48.

49.

50.

51.

52.

53.

54.

55.

56.

57.

38.

59.

60.

Let f£(x)=5x"-3x2+x+3. Find f(-1.23).
What is the remainder of 139250 divided by 19?

Compute 5.752
1.947

-1 .347] x0.375.

Compute3.45x \/[2.97(5.32+4.18)2 +0.95} .

15! 1141 213!
X X .

Compute
312t 51 4!

Compute log, (8.4)xlog, (16)x1og,(0.5).

Compute o~ In(1:35) 125 xIn(5e).
Computei{(0.80—2.715)2 +(527-2.715)* +(3.35-2.715)° +(1.44—2.715)2} .

Compute{log3 (3)xlogz (9)xlogs (243)} —{log2 (2)xlog, (16)} :

Find the sum 1+1.72 +1.7* +1.7 +1.78 +1.719 1712,

Compute J59.26 .

Computee™ 234 (1234)0 + 71234 (1.234)! 4671234 (1.234)% + 071234 (1.234)°.

Compute \/(3.6—\/8._4)<3.6+3\/2_.1) .

Compute (5.2+2.1)(5.22 4 (5.2)(2.1)+2.12).

Compute0.3+0.3(0.7)+0.3(0.7)* +0.3(0.7)’ +0.3(0.7)* +0.3(0.7)’.



